MERCRUISER [D4.2L/250D-TRONIC WM 254 1/LE) < FIUEL FILTER b w
Serial Mbr Flange: 0K.144114 Thru OM999999 ()
Ref |Clazs|Part Description Qt Comment Footnote
2 22 B54153|FITTING [30 DEG.) 2
3 32 855483| FUEL LIME-PUMP TO FILTER 1 [2.8L)
3 32 254160|FUEL LINE-PUMP TO FILTER 1 [4.21)
4 10 11410/ BOLT-BAMJO [M14) 2
5 12 A09963201 | SEALIMG wWASHER 4 2345
f 35 B07256T 1|HEADER W ./PRIMER PUMP 1
BE1068) FUEL FILTER LOCKING RING |1

7 32 855490 FUEL LIME-FUEL PUMP TO IMNJEC|1 [2.8L)
7 32 854161 |FUEL LIME-FUEL PUMP TO IMJEC|1 [4.20]
a 10 811401 |[BOLT-BAMJO [M12) 1
| 25 8099631 29| wWihSHER-SEALING 2 2345
10 211416 FUEL PUMP 1
11 801333865 DIAPHRAGM 1
12 16 11383 STUD M8 X 20 2
13 25 854162 | 0-RING 1 2345
14 13 A11418| LOCK WASHER 2
15 11 11417 | MUT 2
16 10 854155\ BOLT (M10% 30] 2
17 12 211473 WA5HER 2
18 11 B54122 | MUT (M10] 2
19 801763843 RETURM FITTING 1

27 855451 | OWVERHALL GASKET SET 1 [2.8L)[0K. 144109 - DLO9B8058)

27 a79684 | OWVERHALL GASKET SET 1 [2.8L)[0L093059 and up) 1

27 855448 | OVERHAUL GASKET SET 1 [4.2L)0KT441714 - OLOSE8231)

27 A81742| OWVERHAUL GASKET SET 1 [4.2L)[0L093032 and up) 1




